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QUESTION 1

Click the exhibit button. 

Referring to the exhibit, which statement is true? 

A. Packets entering the interface are being dropped because of a stateless filter. 

B. Packets entering the interface matching an ALG are getting dropped. 
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C. TCP packets entering the interface are failing the TCP sequence check. 

D. Packets entering the interface are getting dropped because the interface is not bound to a zone. 

Correct Answer: D 

 

QUESTION 2

What is the correct ordering of Junos policy evaluation from first to last? 

A. global policy > zone-based policy > default policy 

B. default policy > zone-based policy > global policy 

C. global policy > default policy > zone-based policy 

D. zone-based policy > global policy > default policy 

Correct Answer: D 

 

QUESTION 3

Which two statements are true when implementing source NAT on an SRX Series device? (Choose two.) 

A. Source NAT is applied before the security policy search. 

B. Source NAT is applied after the route table lookup. 

C. Source NAT is applied before the route table lookup. 

D. Source NAT is applied after the security policy search. 

Correct Answer: BD 

 

QUESTION 4

Which three elements does AH provide in an IPsec implementation? (Choose three.) 

A. confidentiality 

B. authentication 

C. integrity 

D. availability 

E. replay attack protection 

Correct Answer: BCE 

 

Latest JN0-333 Dumps | JN0-333 VCE Dumps | JN0-333 Exam Questions                                3 / 4

https://www.geekcert.com/jn0-333.html
https://www.geekcert.com/jn0-333.html
https://www.geekcert.com/jn0-333.html


https://www.geekcert.com/jn0-333.html
2024 Latest geekcert JN0-333 PDF and VCE dumps Download

QUESTION 5

You want to implement IPsec on your SRX Series devices, but you do not want to use a preshared key. Which IPsec
implementation should you use? 

A. public key infrastructure 

B. next-hop tunnel binding 

C. tunnel mode 

D. aggressive mode 

Correct Answer: A 
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